FINDING LIMITS GRAPHICALLY L. Lewis

Pre-Calculus
AN INTRODUCTION
Consider a function y = f(x) graphed below:
y
A
Find each limit if it exists, and find each function value, if possible.
i. a) liml+f(x) = 3. a) limz‘f(x) = 5. a) iix;f(x) =
b) liml_ S = b) limz_ f@ = b) lir;l” S =
) xﬁrt_ll f® = c) xLi’n—lz fx) = ) if'f; St =
d) f(-1) = d) f(=2) = d) ) =
2. a) lir:I+ Jx) = 4. a) Iimrf(x) = 6. a) Iimy‘ S =
b) lir?.. i) = b) liﬂls_f @ = b) lilm5 S =
c) }:Tf J) = c) xETs S = c) xﬂlfj S =

Il

d) £(1) = d) £(=3) = d) f(=5)



4. For the function g graphed below, find

(2) lim g(x) (b) lim g(x)

-0~
(c) l}ﬂ} g(x) (d) g(0)
(&) lim g(x) (f)  lim g(x).
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1. For the function f graphed below, find
(a) }i_rng(X) (b) lim f(x)
© lim /() @ /G)
(¢) lim f(x) () 1_iT S(x).
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: - y=f(x)
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2. For the function f graphed below, find '
(@ lim /() (b) lim f(x)
© lim /() @ /@
(e) :l_ir_nxf(x) () ,liT,f(X)'
I
y y=f(x)
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3. For the function g graphed below, find
() lim g(x) (b) lim g(x)
(@ lim g(x) (d) g4
() lim g(x) (f) lim g(x).
&y
y=g(x)
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For the function F graphed below, find
(a) lig}_ Fix) (b) liir%+ E(x)
(c) 111112 F(x) (d) F(-2)
(e) lim F(x) (f) lim F(x).
x
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For the function F graphed below, find
(a) lir;n_ F(x) (b) lirer,l+ F(x)

(c) lxi_r'r; F(x) (d) F(Q3)

(e) lim F(x) (f) lim F(x).
oy
o ° y = F(x)
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7. For the function ¢ graphed below, find

(a) 1_1921 ¢(x)
(©) lim ¢(x)

lim ¢(x)

&=

(e)

S S

() lim $(x)
(@) 9(~2)

(f) lim o(x).
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y=o(x)
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8. For the function ¢ graphed below, find
(a) 3{§3¢(x) (b) 111111_ o(x)
(©) lim ¢(x) d) ¢4
(e) zlqi.rpﬂ $(x) (f) ,IPE., ¢(x).
y=¢(x)
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9. For the function f graphed below find

(@) lim f(x)
© lim /()
(e) lim f(x)

I——wm

(v) lim fx)
@ /G
() lim f(x).
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10. For the function f graphed below, find

(@ lim /() (®)  lim /()
(c) lim f(x) (d) S0
(¢) lim f(x) (6)  lim fx).
Yy =f(x)
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11. For the function G graphed below, find
(a) lirél_ G(x) (b) lirclﬁ+ G(x)
(c) linc} G(x) (d) G(0)
(e) li{_n G(x) ) Iir+n G(x).
y=Gx)

AWAWA
/ \

ANANE
Y VAV




